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What do you mean by ABC analysis ? What are its advantages and disadvantages ?
Oor

Ram industry needs 5400 units/year of a bought out component which will be used in its main
product. The ordering cost is Rs. 250 per order and the carrying cost per unit per year
is Rs. 30.

(i) Find Economic order size.
(ii) Number of orders per year.
(iii) Time between successive orders.
How would you monitor receivables ? Explain the pros and cons of various methods.
Or

What do you understand by credit-worthiness of a borrower ? What factors are taken into

account to determine credit worthiness ? -

What are the factors affecting cash needs and level of cash ? Explain the main issues in cash
management.

Oor

Prepare cash budget for 3 months ending June 2015 from following information-given below;

Month Sales Material | Wages | Overheads

February 14,000 9,600 3,000 1,700

March 15,000 9,000 3,000 1,900
April 16,000 9,200 3,200 2,000
May 17,000 10,000 3,600 2,200
June 18,000 10,400 4,000 2,300

Additional Information :
(i) Cash sales are 50 per cent in sales. Credit sales are collected in the next month.
(i) Time log in period for payments are :
1 For creditors — 2 months.
2 For wages and OH — 1 month.
(iii) Cash balance on 1%t April is expected to be Rs. 6,000.
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(iv) Plant and Machinery will be installed in February month at a cost of Rs.96,000 the
monthly installment of Rs. 2,000 is payable from April month onwards.

(v) Dividend at 5 % on preference share capital are Rs. 2,00,000 will be paid on 1% June.
(vi) Advance to be receivable for sale of vehicle Rs. 9,000 in the month of June.

5. (a) Do you recommend that a firm should finance its current assets entirely with short-term

financing ? Explain your answer.
Or

(b) How does a firm source its fluctuating working capital requirements ?

(5 x 12 = 60 marks)
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M.B.A. DEGREE EXAMINATION, JULY 2018
Fourth Semester
WORKING CAPITAL MANAGEMENT

(2016 Admissions—Regular/2013 to 2015 Admissions—Supplementary/2012 Admissions—

Mercy Chance)

Time : Three Hours Maximum : 6¢ Marks

1. (a)
(b)
2. (a)
(b)
3. (a)
(b)
4.>'(a)
(b)

Answer all the questicns.
Each question carries 12 marks.

Discuss the different approaches to working capital management. What is the trade-off between
hedging and conservative approach ?

Or

What are the important characteristics of current assets ? How does working capital
Management policies affect a firm’s risk and profitability ?

Discuss the objectives of inventory management.
Or
What is ABC analysis ? Prepﬁte a table to show how it works.
Explain the various sources of long term workiné éapital finance.
Or

What are the costs and benefits of a credit policy ? How do you evaluate a policy to find out
whether it is useful for a firm.

Explain Baumol’s model of cash management with diagram.
Or

What is concentration banking ? How is it differént from lock box system ?

Turn over
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5. Compulsory Question :
A company has annual sales of Rs. 30,00,000. The selling price per unit is Rs. 8 and variable cost
is Rs. 2 per unit of selling price. The required rate of return on investment is 20%. Average cost per
unit is Rs. 5 the credit terms are 2 months. The annual collection expenditure is Rs. 30,000 and
default risk is 2%. The company wants to change its policy by following one of the new proposals.
The information is as follows :

Particulars Proposal (1) Proposal (2)
Average collection period 1.5 months 1 month
Annual collection expenditure 60,000 1,00,000
Percentage of default 1% 1%

‘Which of the credit policies should the firm follow ?
(5 x 12 = 60 marks)
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M.B.A. DEGREE (REGULAR/SUPPLEMENTARY) EXAMINATION

NOVEMBER 2015
Third Semester
WORKING CAPITAL MANAGEMENT

(New Scheme—2012 Admission onwards)

Time : Three Hours . Maximum : 60 Marks

1 (a)

(b)
2 (a)

(b)

3 (a)

(b)

4 (a)

(b)

Answer all questions.
Each question carreis 12 marks.

Explain the concept of Hard core working capital. How should it be determined and
financed ?

Or
Explain any TWO theories of working capital.

What are the short comings of inventory management in India ? What can be done to
improve it ?

Or

“The major objective of inventory management is to minimize cash out lays for
inventories”— Explain how this is sought to be achieved.

The average age of receivables is an important yard stick of testing the efficiency of
receivables management of a firm—Discuss.

Oor

Is Trade Credit a free of cost source of financing working capital requirement ? Give
reasons.

Discuss the Miller Orr Model used for determining the cash balance of a firm.
Or

What are the different classes of cash flows and explain the reasons for holding cash ?
How cash flow problem do arises ?

Case Study (Compulsory) : 3

5 Alpha Beta Ltd. Sells goods on credit. Its current annual credit sales amount to Rs. 900 lakh.
The variable cost ratio is 80 per cent. The credit terms are 2/10, net 30. On the current level of
sales, the bad debts are 0.75 percent. The past experience has been that 50 percent of the
customers avail of the cash discount, the remaining customers pay on an average 50 days
after the date of sale.

Turn over
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The book debts (receivables) of the firm are presently being financed in the ratio of 2 : 1
by a mix of bank borrowings and owned funds which cost per annum 25 per cent and 28 per
cent respectively. As an alternative to the in - house management of receivables, the company
is contemplating use of full advance non - recourse factoring deal with the Ind bank Factors
Ltd. The main elements of such a deal structured by the factor are (i) factor reserve, 15 per
cent ; (ii) guaranteed payment date, 24 days after the date of purchase ; (iii) discount charge,
22 per cent ; and (iv) commission for other services (payable up front), 4 per cent of the value
of receivables.

The finance manager of the company seeks your advice, as a consultant, on the cost-
benefit of the factoring arrangement. What advice would you give? You can make your own
assumptions (specify if any), where necessary.

(5 x 12 = 60 marks)
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M.B.A. DEGREE EXAMINATION, JUNE 2019

Fourth Semester
WORKING CAPITAL MANAGEMENT

(2015 and 2016 Admissions—Supplementary)
Time : Three Hours . Maximum : 60 Marks

Answer all questions.
Each question carries 12 marks.

1. (a) Discuss different approaches to financing working capital needs of a firm.
Or
(b) How a company create value through working capital management ?
2. (a) What is an optimum inventory ? Why it should calculated and managed ?
Or
(h) Management of inventories is a tocl for werking capital management - Is it ?

3. (a) Describe the various attributes taken into consideration while analysing the credit worthiness

of customers.
Or
(b) What do you understand by collection policy ? What are the factors determines it ?
4. (a) Why is cash forecasting important ? Why do firms holds cash?
Or
(b) Trace out the significance of Cash Budgeting in modern days of management.
5. (a) Explain various long terms sources working capital finance with its features.
Or

(b) Bring out the barriers in management of working capital finance. Also suggest your view to
manage or control it.

(5 x 12 = 60 marks)
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M.B.A. DEGREE (REGULAR) EXAMINATION, MAY 2014
Third Semester
WORKING CAPITAL MANAGEMENT

(New Scheme—2012 Admissions)

Three Hours .' Maximum : 60 Marks

(a)

(b).

(a)

(b)

(a)

(b)”

(a)

(b)

Answer all questions.
Each question carries 12 marks.

Discuss the risk-return relationship involved in the firm’s asset investment decisions as it
pertains to working capital management.

Oor
What factors should be considered in selecting a source of short-term credit ? Discuss each.
Discuss the criteria that a firm should use in choosing assets in which to invest idle cash.
Or

Suppose a firm’s cash inflows and out flows are completely random. What approach might a
firm use to set its minimum working balance.

What are the components of credit'terms ? Explain each component briefly.
Or

.Brieﬂy explain why receivables management is important.

On what does the optimal size of the safety stock depend.
Or

Considering inventory and receivables separately, the optimal level of investment is the point
at which the expected operating profit is maximised. True or False ? Explain.

Compulsory :

Kramer Corporation wishes to know whether changing from 2/10 net 30 to 2/15 net 30 would
asset the firm’s profitability Gross sales are expected to remain at Rs. 18 crores under the new
plan. However, the percent of sales with discounts would increase from 40 to 60 percent.
Investment costs before taxes are 20 percent. Assume that all buyers not taking the discount

pay at the end of the credit period. Should Kramer adopt the new plan ? Show your calculations.

Suppose that with the new plate, sales are expected to increase to Rs. 18 crores with margins
before credit related costs and taxes on the new sales of 20 percent. Given the above information
is your answer different from the one given under the assumption of no change in sales ?
Show calculations in support of your answer.

(5 x 12 = 60 marks)
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M.B.A. DEGREE (REGULAR/SUPPLEMENTARY) EXAMINATION

FEBRUARY 2015
Third Semester
WORKING CAPITAL MANAGEMENT

(New Scheme—2012 Admission onwards)

Three Hours Maximum : 60 Marks

. (a)

(b)

c(a)

(b)

. (a)

(b)

. (a)

(b)

Answer all questions.
All questions carry 12 marks each.

What is importance of working capital for a manufacturing firm? What shall be the firm
repercussions if a firm has :

(i) Paucity of working capital
(ii) Excess working capital.
Or
Discuss the method of estimation of Working Capital requirements based on sales.

“There are two dangerous situations that management should usually avoid in controlling
inventories” — Explain.

Or
Explain briefly costs and benefits of inventory and some techniques of inventory control.
What are the objectives of a credit policy ? What is an optimum credit policy ? Discuss.
Or

Show the important role which receivables play in the total financial picture and how would
control them.

“Rfficient cash management will aim at maximising the availability of cash inflows by
decentralising collections and decelerating cash outflows by centralizing disbursements” —
Discuss.

Or
What is Lock Box System? What are its uses and advantages to the firm?

. Compulsory :

Write short notes on any four of the following :

(i) Current Assets and Fixed Assets.
(ii) Terms of credit.
(iii) Euromarkets as a source of financing.
(iv) Maximum Permissible Bank Finance.
(v) Motives of holding Cash in a firm.
(5 x 12 = 60 marks)
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M.B.A. DEGREE (SUPPLEMENTARY) EXAMINATION, NOVEMBER 2016
Third Semester
WORKING CAPITAL MANAGEMENT
(2012 to 2014 Admissions)
Time : Three Hours Maximum : 60 Marks

Answer all questions.
Each question carries 12 marks.

1. (a) Define ‘Working Capital Management’. Why is it important to study the management of

working capital as a separate area in financial management ?
. g Or

(b) A Performa cost sheet of a company provides the following particulars :

Elements of Cost Amt. Per Unit (Rs.)
Raw Materials 140
Direct Labours 60
Overheads 70
Total Cost 270
4 Profit 30
Selling Price 300 R

Further particulars available are :

Raw materials are in stock on an average for one month. Materials are in process on an
average for half a month. Finished goods are in stock on an average for one month.

Credit allowed by suppliers is one month - credit allowed to customers is two months. Lag
in payment of wages is 1% weeks. Lag in payment of overhead expenses is one month.
One fourth of the output is sold against cash. Cash in hand and at bank is expected to be
Rs. 50,000.

You are required to prepare a statement showing the working capital needed to finance, a
level of activity of Rs. 2,40,000 units of production. You may assume that production is
carried on evenly throughout the year ; wages and overhead accrue similarly and a time

period of 4 weeks is equivalent to a month.
Turn over





